1) Suppose that the weight of a candy bar has a mean of 4 ounces with a standard
deviation of 0.15 ounces. Also, the King size version of the candy bar has a weight of 7.5
ounces with a SD of 0.4 ounces. Assuming both distributions are approximately normal,
what is the probability that a randomly selected King size bar weighs more than 2

randomly selected regular bars?
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2) A company manufactures small stereo systéms. At the end of the productl line, the
stereos are packaged and prepared for shipping. Stage 1 of this process is called
“packing” (collecting all the components, putting everything in plastic bags, etc.). Stage
2 of this process is called “boxing” (arranging everything in the box, sealing the box,
labeling it, etc.). The company says that times required for packing are approximately
normally distributed with a mean of 9 minutes and a SD of 1.5 minutes. The times for
boxing are also approximately normal, with a mean of 6 minutes and a SD of 1 minute.
a. What is the probability that “packing two consecutive systems takes over 20
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b. What percentage of the stereo systems take longer to “pack” than to “box”?
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afhat is the probability that the verag\ﬁfﬁ?ﬂ takes to “pack” 100 stereos is more
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“d. 'tn both parts (a)-(c}, what assumptlon di ‘}Lou_make ot answer the questions? Is
this a reasonable assumption for these questions?
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( AP Statistics @‘ — Chapter 16 " Name

A small business just leased a new computer and color laser printer for three years. The service

contract for the computer offers unlimited repairs for a fee of $100 a year plus a $25 service charge

for each repair needed. The company’s research suggested that during a given year 86% of these

computers needed no repairs, 9% needed to be repaired once, 4% twice, 1% three times, and none
_required more than three repairs.

1. Find the expected number of repaIrs this kind of computer is expected to need each year. Show
your work. X\,, o ¥ e fedvr : ; -
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2. Find the standard deviation of the number of repairs each year.
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3. What are the mean and standard deviation of the company s annual expense for the service

contract? ., . e R
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iD 4. How many times shoutd the eompa.ny g< Qect to
three-year term of the lease? 7- (y I
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5. What is the standard deviation of the number of repairs that may be fequired during the three-
year lease period? On what assumption does your calculation rest? Do you think this
assumption is reasonable? Explam
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6. The service contract for the lﬁrin;cer estimates a mean annual cost of $120 with standard
deviation of $30. What is the expected value and standard deviation of the total cost for the
service contracts on computer and printer?

7. Which service contract should the company expect to cost more each year? How much more‘?

With what standard deviation? |
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